2007-2008 7TH GRADE CONTEST SOLUTIONS

Answers

A circle can pass through 1, 2, or 4 of a square’s vertices, not just 3.
A) 4 B) 3 C) 2 D)1

31

7/8 is nearly 1, whereas 8/17 < 1/2 and 6/11 > 1/2 are clearly smaller.
7_8_56 6 8 _7 6 __7_28 8 _6 _7
A)§<1—7'<ﬁ B)ﬁ<ﬁ<§ C)ﬁ<§<T7_ D)ﬁ<ﬁ<§

3L

32.

Face of large cube: area = 9600/6 = 1600; edge = V1600 = 40.
Face of small cube: area = 96/6 = 16; edge = 4; 40343 = 1000.

A) 10 B) 100 C) 1000 D) 10000

33.

To buy a $45 gift, I paid 25% or $11.25, leaving
$33.75. Each of my 5 payments is $33.75+5.

A)$6.75 B)$7.25 C)$9.00 D) $11.25

If N=2only N+7 =9 is
not a prime number.

A) N+3 B) N+5
C) N+7 D) N+9

35.

2x -;-)x(4 X %)x. .. X (48X Zlg) < 1 since each subproduct < 1.
A)<1 B)>1 C=1 D)=0 %
: (/ H

Since 120 kids have a cat, 300 have a dog, and
65 have both, 120—65 = 55 have only a cat
and 300-65 = 235 have only a dog. Hence,
400—(55+235+65) = 45 have neither pet.

A)45 B)9 C 129 D335

37.

(Z X2 X 2)8 % (2 X 2)4 X 22 - 28+8+8+4+4+2 - 234
A2 B 2* (26 D) 2M ;

35.

36.

37.

38.

/00500 I00X 100 = /1005100 = VA0 = 10.
A) 1 B) V10 Q) 10 D) 100

38.

39.

Every 360°, each side returns to its original position.
Nexf, 1575° is 135° more than 4 X 360° = 1440°. The
extra 135° is 3/8 of 360°, so each side moves 3 posi-
tions clockwise, and side 8 ends where side 3 began.

A) side2 B) side4 C) side6 D) side8

39.

40.

I swam 58 laps on May 16, the middle day of May. I swam 1 less
lap each day before this, so I swam 58—15 = 43 laps on May 1.

40. .
B

A) 42 B) 43 C) 4 D) 45

The end of the contest @&y f
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®  Solutions Turn the page for detailed contest solutions (written in the
question boxes) and letter answers (written in the Answers column to
the right of each question).

m  Scores Please remember that this is a contest, not a test—and there is no
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= Answers & Rating Scale Turn to page 139 for the letter answers to
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